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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
1) 262 2) 781 3) 229 4) 402
x 9 x 4 x 4 x 4 1
2,
3.
4.
5 932 6) 859 7) 206 8) 659
X 8 X 5 x 3 X 3
— 5.
6.
7.
8.
9) 836 10) 564 11) 655 12) 882
x 8 x 5 x 3 x 7 o
10.
11.
12.
13) 649 14) 572 15) 450 16) 844
X 7 X 9 X 2 X 7
z_f 13.
14.
15.
16.
17) 145 18) 657 19) 266 20) 320
X 4 X 8 X 5 X 9
17.
18.
19.
20.
: 1-10 (95|90 85[80]75]|70] 65|60 5550
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Moltiplicazioni (verticali) Nome:  Soluzioni
Risolvi ogni operazione. Risposte
1) 262 2) 781 3) 229 4) 402
x 9 x 4 x 4 x 4 1 2.358
2.358 3.124 916 1.608 '
2 3.124
3 916
4. 1.608
5) 932 6) 859 7) 206 8 659
x 8 x 5 x_ 3 x 3 5 7.456
7.456 4.295 618 1.977 '
6. 4,295
7 618
8 1.977
9 836 10) 564 11) 655 12) 882
i 8 X 5 X 3 X 7 9 6688
6.688 2.820 1.965 6.174 ' '
10. 2.820
11 1.965
12. 6.174
13) 649 14) 572 15) 450 16) 844
X 7 X 9 X 2 X 7
4.543 5.148 900 5.908 13. 4.543
14, 5.148
15. 900
16. 5.908
17) 145 18) 657 19) 266 20) 320
X 4 X 8 X 5 X 9
580 5.256 1.330 2.880 17 580
18, 5.256
19. 1.330
0. 2.880
- 110 | 95]90]85]80] 75| 70| 65] 60 55| 50
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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
A
1.608 916 2.358 1.965
1
618 6.688 4.295 3.124
7.456 1.977 6.174 2.820 ) 2
3
1) 262 2) 781 3) 229 4) 402 .
X 9 X 4 X 4 X 4 ’
5.
6.
7.
8.
5) 932 6) 859 7) 206 8 659
x 8 x 5 x 3 x 3 S
10.
11.
12.
9 836 10) 564 11) 655 12) 882
X 8 X 5 X 3 X 7
: Semplificato 1-10 | 92]83| 75| 67|58]50] 42| 33] 25| 17|
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